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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1

foraTa & weprer T 3971 fohgar 1T &

The velocity of light in vacuum is:

Ans K13 X 106ms ™

X 23%x10"ms?
¥ 23 %x10%ms?t
K 4 2% 108ms—?

Question ID
Status
Chosen Option

19864493204
: Answered
1

Q.2 E mefeg ‘ HeteT
-, @ A a g @ &l Question ID : 9864493984
‘Square’ is related to ‘Line’ in the same way as ‘Cube’ is related to Sl 2 ATSTES
Ans x ﬁ Chosen Option : 3
1.
Circle
X 2 3
Point
AT
3.
Rectangle
W 4
Square
Q.3 o faeay &1 el [T arg & o9 & S 1 Faa 17 0 7 o Stk :
Fer @ ST T ST 4 ¢ 3 oM PR g A A & SR A B - Question ID:9864492925
R T o2 Status : Answered
. B . . ] Chosen Option : 1
In an alloy of German silver the ratio of copper to zine was 17 : 7 while that of nickel to
zine was 4 : 3. The ratio of copper to zinc to nickel in the alloy was:
Ans  of'1.51: 21 : 28
X217 :21:4
X368 : 28 : 21
X417 :28:3
Q.4 ; T
ey # wruffe i 3rT Fia @ gar 27 Question ID : 9864493475
Which of the following is the primary sex organ in man? Status : Answered
Chosen Option : 2

Ans
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Seminal vesicles

et

W2

Testis
X3 e
Prostrate
I TR

Vas deferens

Ko

X 4
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Q5 zat 3y 3o ZEr S W femfafae arfeer & wEee #

Question ID : 9864494025
Status : Not Answered
Chosen Option : --

FHF | g |gfe | 7d | 9Ree | sew
o
1 A | 40 |37| 35 | 27
2 B 6 |26| 76 | 86
3 C 83 |71 21
4 D 17| 3 11

fow a1 sriwst & AR W, T AT FFAGART H FA FET 2

Parties and the seats won by them are listed in the following table.

S.No | Part | Sout | East | West

North

A 40 37 35

27

B 6 26 76

86

1
2
3 C 83 71 4
4

21

D 1 7 3

11

Based on the given data, the total number of candidates elected is .

Ans  of 1. 534
< 2543
< 3. 524
/< 4 535

Q.6 fooT & Faw a2 @ = 7 ¥ U, 'FE0 T 0T AT & e Tsa A

fE

One of the largest salt deserts in the world, the ‘Rann of Kutch’ is primarily located in

which state of India?

Ans T wo T
r 0
Madhya Pradesh

-
2

Gujarat
X 3

Assam
r 8

Telangana

Question ID : 9864492138
Status : Answered
Chosen Option : 2

Q7

Question ID : 9864494008
Status : Answered
Chosen Option : 3
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Options

A B C D
Ans (1(:

X< 2B
X3 A
X 4D

Q.8 =T /T FAE T (Problem Figure) #1=r ¥ 3caX ST (Answer Figures) #
T e v # wieafea §1 38 3ea¢ = (Answer Figure) @ gg=Il &1

Question ID : 9864494106
Status : Answered

Chosen Option : 3

Problem Figure

Answer Figures

A

Problem Figure - ¥aEm ==

Answer Figure - 3ee¥ =

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Answer Figures

AP

A
Ans x1_ D
v A
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Q.9 RB75E%M3W48Q9#B2ASMS
FR T A # 90 BN THET HE F % AN F W T W o
™

RB75E%M3W48Qo#B2ASMS
In the above sequence which term is third to the right of the twelfth term from the left
end?

Ans x1#
X 22
X3 A
v B

Question ID : 9864493813
Status : Answered
Chosen Option : 4

Q10 7fy s 1 e @ A T FT ATF FHHT SN F A T §
The area of a square is equal to its side, if the side is 1 unit.

Ans
v g
Always

x o T
Never
FHafl-helr
Sometimes
HFHL

X4
Often

X 3.

Question ID : 9864493765
Status : Answered
Chosen Option : 1

Q1 e TR W HT SATH 106 T HIeT | FHHT Tedeh 31T 1 4TS ¢
The area of the square field is 196 sq.m. Its each side is:

Ans «1_14#131
14 m
16 AT
16m
13 AT
13m
17 Hrex

17m

X2

K 3

X 4

Question ID : 9864492440
Status : Answered
Chosen Option : 1

Q12 e/ 22 + ax + b F AT x + 3 & Fwnfag fr 5@ & 9w - 1 5T
T & AT =ToF 1% + by + a T x- 3 ¥ fYwfoT oear amar § & 9w 39
9Iee BT 2l a + b T AT T 87

Ifx? + ax + b, when divided by x + 3, leaves a remainder of — 1 and x* + bx + a,
when divided by x - 3, leaves a remainder of 39, thena + b="?

Ans x1. 38
K2-14
K3 - 38
vi14

Question ID : 9864492696
Status : Not Answered
Chosen Option : --

Q13 S #F safera 2017 AT g TREr w9 faa Siar ar
‘Who won the 2017 Women’s Hockey Asia Cup held in Japan?

we | afEor B

South Korea

FB Group: SSC Railway GK Aptitude
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QU afy 1 agen g, FEs @i g gnar &
The first equation of motion gives the relation between:

Ans
x1_aﬂ3ﬂxa¢m

velocity and acceleration

z_ﬁﬂﬁ-’raﬂwm

position and time
| 3T 3R A
velocity and time

, e sl S

position and velocity

x

v

x

Question ID : 9864493340
Status : Answered
Chosen Option : 3

O R TU F A Al W iy T

Problem Figure

Answer Figures
RO Kile]
A B C D

Choose the correct figure to fill in the blank space.

Problem Figure

Answer Figures

KO Kite!

A B C D
Ans X1B

v A

X3C

FB Group: SSC Railway GK Aptitude

Question ID : 9864493729
Status : Answered

Chosen Option : 2
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Q.16 7 afiey 3 Tl oot & efid 3 e/t & Seaaed sior 30° o afg el &
CIehIA FTedl 50v/3 Hied &7 af efa 1 dar fhcetr o?

From the top of a platform 7 m high, the angle of elevation of a tower was 30 ¢ If the
platform was positioned 50y/3 m away from the tower, how tall was the tower?

Ans (25v3 + 7) e

w (25V3 + 7)m
254/3 HIeX

: 25v3 m

50 #Hiex

50m

57 Hiex
57Tm

v

X3

X4

Question ID : 9864492998
Status : Not Answered
Chosen Option : --

Q17 5 sty os & S AT 1 AT |

Find the mean proportional between 2 and 987
Ans x 1.13
X 2145
V14
X 416

Question ID : 9864492625
Status : Answered
Chosen Option : 2

Q.18 feway, 2017 & et TR & Fea @fm & &7 & & fgera B o 2

‘Who has been appointed as the Chief Secretary of the Delhi Government in December
20172

Ans x ITHET &
Akansha Ranjan

V2 34'3; JehTeT
Anshu Prakash
TfeeT i
5 3
Aditya Negi
X s AT F8@T
Ajeet Vasant

Question ID : 9864492435
Status : Answered
Chosen Option : 3

Q19 iz, aifar=t T 3R F AT
Mechanical energy is the combination of kinetic energy and

Ans
v feufas F=r

Potential energy

XZWJH

Nuclear energy

X 3 arafa® FaT
Chemical energy

X 4 ToHE AT
Heat energy

Question ID : 9864493562
Status : Answered
Chosen Option :1
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QW affVvUF s UWHR Tl XUsmadg FusvVaaFm

If V is the brother of U, U is the sister of W and X is the husband of U, then U is Vs

Question ID : 9864493832
Status : Answered
Chosen Option : 3

Ans =4
r 0 Lall
Mother

| = A Thy g H A

Aunt

v,

Sister
, Tel sefy/ |rely/ ST SaII=T

Sister-in-law

x

x

Q.21 =@ & & O aftas & a7 e #i7 o § G et & @
giar &7

‘Which of the following is the main thinking part of the human brain?

Ans AT AfETSH

Question ID : 9864493276
Status : Answered

Chosen Option : 1

Fore-brain

x o 3 TR
Hind- brain

22 - . : £ . .
a 5% M TIE B A A ?Ié ? " 2 ¥ e %I Question ID : 9864494061

Status : Answered

Chosen Option :1

Select the option that represents the number of triangles in the given figure is.

Ans X111
X238
V210
K49
Q.23 for=AfofEa # & Fia & daF o o AT Foif & S 3mEvor / gfcesior

% ol # [Aafag weer aen Hae Gar g7

Which of the following scientists gave the law that governs the force of
attraction/repulsion between two charged particles? Chosen Option : 1

Higdhd IS
b !
Michael Faraday

Question ID : 9864493405
Status : Answered

Ans
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AT FHellrd
2 -
Charles Coulomb
< 3. SRS
Archimedes
qred 3%
< 4 N
Charles Dufay
Q24 4824 T EI?SI'H“?»‘I' IEGI %" Question ID : 9864492903
. Status : Answered
The square root of 4624 is: Chosen Option :2
Ans X 1. 64
v 2 68
K372

Q.25 g e =g per=pe ) 3'CI'-§IDEE|' IECT] S-ﬁ' | Question ID : 9864493461

Status : Answered

3t & o= ETHQ'T ey ﬁ'ﬂ-‘lt FIar %— Chosen Option : 4

Fill in the blank with the most appropriate option.

X 4 66
The pitch of a sound depends on its
Ans AT ATH
1.
amplitude

X2 o
timbre
T
wavelength

Fmfed

frequency

< 3.

v &

Q.26 @i TN AT Tl THES AIA GE H THF WAt T (S
e T ST 7 W@
‘Which Indian stock exchange is planning to launch its own Initial Public Offering (IPO)?

Question ID : 9864492388
Status : Answered
Chosen Option : 4

Ans vy Threg F=o TEie TS (THHUTS)
Saurashtra Kutch Stock Exchange (SKSE)
, FEA Tk TFESS (HITHT)
Cochin Stock Exchange (CoSE)
X A LTk TFHSS (TATHS)
National Stock Exchange (NSE)
. 15 T TS (doag)
Bombay Stock Exchange (BSE)

x

v

x

Q.27
Question ID : 9864493032

Status : Answered

Chosen Option :2
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a9 A, B 3R C v @iel & A 3 gU &1 e al aisd e 4 3R 10
HE A Zhl il 3 wahd g1 i sl gl SR @l e 9y qany 6 He A
@rel &Y f&zm orar @1 At wel et a1z S @1 35 AT T gl 9 e
e W AT g, T R & EIT fRas 8¢ & e

Pipes A, B and C are attached to an empty cistern. While the first two can fill the cistern in
4 and 10 hours, respectively, the third can drain the cistern, when filled, in 6 hours. If all
the three pipes are opened simultaneously when the cistern is three-fifth full, how many
hours will be needed to fill the cistern?

Ans X1E

11

vl

11

Xo

11

X2

11

Q.28 " - " . o
1;1_;- ;ﬁ = o @ 2 W N Question ID : 9864492383

. . . . Status : Answered
‘Which of the following sportspersons recently wrote the autobiographical book °Ace .
Against Odds™? Chosen Option : 4

T g
X1 2

Yuvraj Singh
V2 arfaar &=

Sania Mirza
< 3. IS e

Saina Nehwal

\ fever Faer

Anil Kumble

Ans

x

o Ilﬁ A= (_14 + 4) ‘#h-B =4-14 %5 Fn-AB = Question ID : 9864492544
If A= (_14 + 4) and B =4—14,then AB = Status : Answered

Chosen Option : 2
Ans « 1.0
#2100
X -1
&4 -100

Q.30 P aF W e =1 3T o7 = F 3EF smw ov i o s w3

Question ID : 9864493644
aF

Status : Answered
HF IEER B Chosen Option : 2

TR

1. e TR F
2. 3T HTHIY 2

Consider the argument and decide which of the given assumptions is/are implicit.

Argument

Today is Sunday

Assumption

1. Tomorrow is Monday.
2. Today is a holiday.

Ans - A AT 2 THEIS ¢
1,
Only assumption 2 follows

FB Group: SSC Railway GK Aptitude Telegram Channel: t.me/ssccglinfo\
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Only assumption 1 follows
x o 13 2 2t FFE § |
Both 1 and 2 follows
x o 7 A1 AT & 2 THEE

Neither 1 and 2 follows

2
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Q31 g Fr gl L,

78 +[{27 =+ (—18 + —2)} T — 4 + (=3)] =7

Solve the followmg.

78 +[—4 + (—3)of {27+ (—-18 + —2)}] =7
Ans «1_ -6
K213
K36
X 4156

Question ID : 9864492779
Status : Not Answered
Chosen Option : --

Q.32 R v FeFded’ w @ A & Tel 3K Ig T¥ HL B ST T (@) Feaw
Tl F AHENT T F AT (FAA §) T £

EEGELH
o Tied &aar §1 Teh ST &= F

e

1. g whed S #1
2. 35 T Bied &

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:

Some angels are gods.
All living being are gods.
Conclusions:

1. Some angels are living beings.
2. Some living being are angels.

Ans x113ﬂ¢2aﬁ3ﬁmaﬂﬁ%|
Both 1 and 2 follow.

Faer fsHhy 2 TTEIOT FAT g
| Only conclusion 2 follows.
Fae fTh¥ 1 IFFEIT HAT g
’ Only conclusion 1 follows.
1 3R 2 2= e @ F €

Nether 1 nor 2 follows.

K2

x

v

Question ID : 9864493951
Status : Answered
Chosen Option : 2

FB Group: SSC Railway GK Aptitude

Question ID : 9864492606
Status : Answered
Chosen Option : 3
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T AT o= 9T 5 ¥ F i¥F T T 3 9§ F 97 2 ST HIUROT == T

5,250 §1 TH 3T & forT saret T WA a3 R 3T Sy 7 T sast
o= g

Simple interest on a certain sum of money for 3 years at 5% per annum is ¥ 5250.What
will be the compound interest on that sum at the same rate for the same period?

Ans X' 1.¥5517.88
X 2.75,510.88
X 375,512.88
v 7551688

(€

www.facebook.com/superpathshaIaA

J

Q.34 13,0, +C1, — 2HC1 + O, 3TATIT 7, 1,0, FoF TT F FF FAT L2
In the reaction HO; +Clz — 2ZHC1 + Oy, H20; acts as:
Ans Teh HTFHIRRE
an oxidising agent
Teh HFel
an acid
Tk &8
a base

Teh HY=Ih
o 4

a reducing agent

Question ID : 9864493130
Status : Answered
Chosen Option : 2

Q.35ﬁmxwﬁmm?wmm%mﬁ%ﬁwﬁ;ﬁ%
e gv aw & et T 51 = #

FUT:
o TF I3TOT dJeaar B
Feolas BfRR g 1

forsa:
1. g5t ¥R &er TeaErs
2. ol gt &

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Dhoni is a good batsman.

Batsmen are smatt.
Conclusions:

1. All smart people are batsmen
2. Dhoni is smart.

Ans x1_
a1 3R T & 2 NEIT FAT 7

Neither 1 nor 2 follows

1 3 2 g 3TEOT FA &
Both 1 and 2 follow

o, e forsa 1 aregeer et §
3.

Only conclusion 1 follows

y Fael fIsHY 2 HTAIOT FIAT 8

Only conclusion 2 follows

x

Question ID : 9864493743
Status : Answered

Chosen Option : 4

FB Group: SSC Railway GK Aptitude

A}

Telegram Channel: t.me/ssccglinfo\




www.superpathshala.com

Q.36 X =T =Rt EfErT #r AT 30 RreeT AT §, 3R afeer As 30
foreisieT ®@n I & a1g Al T e w20 Shevier S g st o
AT HHT der 30 Freladter ar 81 X e JRies T o 3 Rhae gff
Lol-vd
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Question ID : 9864494137
Status : Answered
Chosen Option :1

X drives 30 km south, then turns right and drives 30 km, then turns left and drives 20 km
and then turns left and drives 30 km. How far is X from his/her initial position?

Ans o 1. 50 fFaTHEET
X 230 freAET
~ 3. 60 fFerEET
X 420 fFarEeT

Q.37 ¥ 2017 & gEt & &g fowet AT & FEwAd & & F FAAR Tg0T B
b

Who took charge as the Chief Minister of Goa after the 2017 elections?

Question ID : 9864492297
Status : Answered
Chosen Option : 3

e, FAE
Manohar Parrikar
K2 S EIE‘I_'\
Bharat Vir Wanchoo
| ST AHHT
Dayanand Narvekar
e arorATs
Churchill Alemao

x

X 4

Q38 T T FERT AT F HUR R YT A I

Question ID : 9864494180
Status : Answered
Chosen Option : 1

L oo o B

Bunch - &=

Select the missing term based on the given related pair.

WO MA_T FT TMIT HET ¢
The missing letter in the word ‘MA T~ is:
Ans «" R

Question ID : 9864493913
Status : Answered
Chosen Option :1

X2C
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Q.40 W FHEEt x + 2y — 8 = 03 2x + 4y = 16 F AT F At P EEATE:

The number of solutions of the pair of linear equations x + 2y — 8 = 0 and 2x + 4y = 161is

Ans « 1.0
K22
X3 E
Infinitely many

Xl

Question ID : 9864492515
Status : Answered
Chosen Option : 1

QM g & ¥ #ig @ AT flfﬁflﬂﬂ' EYiry Hepelel (regeneration and budding) &aRT
T T Tl &7
‘Which of the following organisms can reproduce by regeneration and budding?

Ans
x 1 AT
Yeast

CATSHIETH
Plasmodium
ol T

Planaria

GEEY
W 4 Hydra

X2

X 3.

Question ID : 9864493297
Status : Answered
Chosen Option : 1

042 T #F | FiT AT T ST ST dcd Tar 87

Which one of the following is not a borderline element?

Ans x1m

Boron

e

Silicon

foemr

Bismuth

greifa e (Polonium)

Polonium

X 2

v

X4

Question ID : 9864493613
Status : Answered
Chosen Option : 1

Q.43 FgrrnRt # Al et S frre A G 39dE @9 so9eT T Her
L

The vast amount of sea weeds present in oceans may produce an endless source of:

x, TR AW AT
Sea wave energy

o
Methane

HAGTERR O FaAr

Ocean thermal energy
AifEFT F=r

X4

Nuclear energy

Ans

2

X 3.

FB Group: SSC Railway GK Aptitude

Question ID : 9864493066
Status : Answered
Chosen Option : 2
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L
.44 :
Q44 goafrEsT Fr s9g TE HFT F TIF FL Question ID : 9864493879

Status : Answered

VIXTR
T8
F|#| 2

i b i

A B C D
Choose the correct figure that replaces the question mark.

VIXI%
2T}
F|F

Vs

1% A%
B

Q.45 2017 F YFfET AT 36T 390 'R TFa AT 1 F o4ws Fi9 87

. . . . . . . Question ID : 9864492181
‘Who is the author of the Indian English Novel “When Dimple Met Rishi’ published in
20177 Status : Answered

Ans ‘T'E?’r ﬁg?n. Chosen Option : 3

2
Sandhya Menon

=de ST
X3
Chetan Bhagat

x4 =fer ===y
Nidhi Chanani

Q48 (2,14,16), (3,21,24), (8, 56,64), (5, 35, 41) Question ID : 9864493865
T AT S R HHg o gy u_-lﬁ' PEERI) %, ER %" Status : Answered

Chosen Option : 2
(2,14.16), (3,21,24), (8, 56,64), (5, 35, 41)
The set that does NOT belong to the group is:

Ans X 1 (2,14,16)
v 2 (5, 35, 41)
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T Pafaf@T § ¥ Fi9 7 vF gaaa g2

Which one of the following is a cation?

Ans
x , FESIHIES

Hydroxide

L L

Nitrate

X 4
Carbonate

Question ID : 9864493528
Status : Not Answered
Chosen Option : --

Q.48 v wrEee oF TwE s Fr Rewr swd FE & s § F saee
T Al & HEE ¥ SET Bl A% T I A F Rewmst & s Fw
¥

The volume of a right circular cone, with a base radius the same as its altitude, and the
volume of a hemisphere are equal. The ratio of the radii of the cone to the hemisphere is:

Ans X171
Xz-iﬁ;’:w
(3‘w:1
Ka2:1

Question ID : 9864492654
Status : Answered
Chosen Option :1

Q.49 fr=fafam o a9 it 38 W @ sew & S R &

Sales of Bikes in India as per the Colourin
2009

25%

20%
1% 10% 10%
10% 8% o %
~Pilaql I
- n U

Blue Green Golden Brown Black silver White Red Yellow

afE 2009 # AreT-wEfFet $r 1 F FFER H TF F FH 10000 of, T g
TT & g H e T ARt e At a9 8 o4
Study the following graph and answer the question that follows.

Sales of Bikes in India as per the Colourin
2009

25%
20%
12%
o % 10% - 10%
11l [
N a1 1
Blue Green Golden Brown Black silver White Red Yellow

If the total number of bikes sold in 2009 was 10000 how many more yellow bikes were

Question ID : 9864494202
Status : Answered
Chosen Option : 1

sold than green ones?
Ans  of 1. 200
X 2.2000
~ 31000
X 4 800
| Q.50 [ ]

FB Group: SSC Railway GK Aptitude
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Ans

FAT T AT A 3 AT A B A Al & AR Bl @ g s A e
ZA oy A1 ATt Rt 7 Jee A 40 Rm A A g1 Al ¥ TRee A v £,
Torarer Rt 3 o vy TS @ SR

www.facebook.com/superpathshalaﬂ

Question ID : 9864492509
Status : Not Answered
Chosen Option : --

Surya works 3 times as fast as Ramya and is able to complete a work in 40 days less than
the number of days taken by Ramya. Find the time in which they can complete the work

together.
Ko 20 feat
20 days

30 &=

30 days

5=
25 days

15 fe=r
15 days

X2

< 3.

o 4

Q.51

Ans

THAYT dcd AT B 872
What are transition elements?

Ko

Question ID : 9864493414
Status : Answered
Chosen Option : 1

a5 ded, Toie engsit 3R AT argsi, glel & aor §
Elements which possess properties of both, metals and non-metals
2 o] T I O # 36 soEe g &
They have eight electrons in the outermost shell

X 3.
ag dca, foash did @8 agd oe 3R 8ld §

Elements whose three outermost shells are incomplete

v 2
ag dcd, foeh of Tad F1Ed A 3 8l €

Elements whose two outermost shells are incomplete

Q.52

Ans

Ueh A4 4T fehwent Teh 3eTeoT &:
An alloy is an example of:

Question ID : 9864493171
Status : Answered
Chosen Option :1

_ afay @sor
Heterogeneous mixture
X2 PIATTSS AodeT
Colloidal solution
v 3 AT

Solid solution

x

Question ID : 9864494113
Status : Answered
Chosen Option : 3

X4
Emulsion
Q.53
FB Group: SSC Railway GK Aptitude
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Problem Figure A

24§

Answer Figures

ot |4 PP

A B C D

Problem Figure - T&Ear ==

Answer Figure - 3ca R
Select the correct mirror image of the Problem Figure from the given Answer Figures.

Problem Figure A

4] 3

gt ¥ s
- ?2'1_83 c D
X 2D
vsC
X< 4 A

Q.54 Fwar 833749502 F ‘4’ AR 2 F TURNT AT F WK F
The difference between the place values of ‘4" and *2” in the number 833749502 is:

Question ID : 9864494340
Status : Answered

Ans x 1. 30098 Chosen Option : 3
V' 239998
< 349998
~ 439098

Q.55 ey 3ftT sTey T 3T T HFNA 1: 2 F1 7 TH G Tg A 3 2 5 @ AA ¢ T3 SIS .
$r g Question ID : 9864492565

. . . . Status : Not Answered
Ages of Lalu and Balu are in the ratio of 1 : 2. After 7 years their ages ratio changes to 3 :

5. The elder person age is: Chosen Option : --

Ans X124
X 232
V'3 28
X 420

Q.56 =& HAvafrTd Naa gar & Fem AT § ar Sl o 36 soeT gar ¥

Which compound is formed when a Magnesium ribbon is burnt in air?

Question ID : 9864493389
Status : Answered

Ans x ﬂgm AZerEE Chosen Option : 3
1.
Magnesium Nitride
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HAfws HwaEs
v Magnesium Oxide

HAARTA A
" Magnesium Niirate
s HATT FElbe

Magnesium Carbonate
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Q.57 T3t fef= &1 HTUR 38F WA 8% a6 TARAL Tqa & 3TN H AT

Ans

¢l P AR Igele & A @ Feee FEEA T AN FAT gEm?

The base of a triangle is half the base of a parallelogram having the same area as that of
the triangle. The ratio of the corresponding heights of the triangle to the parallelogram will
be:

K12:1
X21:4
X31:2
Va4l

Question ID : 9864492795
Status : Answered
Chosen Option :2

Q.58 37 fashe & =uad A faeT B f @ v & 7 91 @ e @ar

&l

Zs

Select the option that will correctly fit in the blank space in the following figure.

P
x«@
V2 @\f
Xs-
< (S

Question ID : 9864494377
Status : Answered
Chosen Option :2

Q.ssuﬁm#mﬂA,mBa}mﬁHm%amgA_l

Ans

If Metal A displaces Metal B from its solution, then Metal A

B # gerem 7 FH gfafEardfer &

is less reactive than B

B & e 7 sl ¥

is heavier than B

B & gore & afdes gfafeande &
is more reactive than B

B # oRE ¥ UHEHE & St &

has the same reactivity as B

F !

<2

v &)

X4

Question ID : 9864493612
Status : Answered
Chosen Option : 3
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Q.60

T 31 Y 3 T T P AT B e AT § | HiT U W 5 6 6 & T
60 A ATeET Foredt & | Afg AT 3T T g1 Homht 37 510 o1t &, it 3T alfl bt

Tl Ferctelt ST ATl 1Rt 5 & T g

Sita’s bucket has thrice the capacity as Ramu’s bucket . It takes 60 turns for Sita’s bucket

to fill the empty drum. How many turns it will take for both the buckets of Sita’s and
Ramu’s, having each turn together to fill the empty drum?

X 130
x 2.50
X 340
v 45

www.facebook.com/superpathshaIaA

Question ID : 9864492632
Status : Answered
Chosen Option :1

Q.61

Rramr T R s ki s F v =& &
FIT W FUA =T 2l

afy X = faem, s 3t e & aieaw 50 3 arg B ar e A
3% fraer 3% o go?

FY:
1. 3H sfaew 3T smar F sitEa 3t 25 3
2. 5% 9T # 30 3 9rea gl

Consider the given question and decide which of the following statements is sufficient to
answer the question.

If X scored an average of 50 marks in History, Language and Science, how much did he
score in Science?

Statements:

1. His average score in History and Language is 25.
2. He got 30 marks in Language.

b !
A U 1 R AT & FAT 2 I F MF H 3R & H TEH 2
Neither 1 nor 2 is sufficient to answer the given question.

X2
FUF 2 HHAT & T F T H I 3 H WA § e HUF 1 3w &
IR F 99 F Ioc] 3 F TeH A 3

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

5 3
FoT 1 3 Fe 2 =t & 3 F T2 1 3cal &7 F TEH
Both 1 and 2 are sufficient to answer the given question.

o 4
FUA 1 HFel &1 3 & T H 3cal 4f H TEIH § Tog FUA 2 el &
I % WA F Scad & & WA 4 Al

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

Question ID : 9864494127
Status : Answered
Chosen Option : 1

Q.62

Ans

ferafafie w0 #, T Beg(?) @0 AT 71T FPEN, T I Fgaed 8
T 7w fedt # & agafeyd 3R #7199 #

N, L, J, H?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

N,L,LH?
v i F
x< 2B
X3 G
X4 E
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Q.63 A and B el 17 & 12 e # 90 & B §1 A & F QU e F Fo
feeT Tger F oiET U= 3R S FROT T FE F 9@ H F 16 T 79 7w
A FFTATHFFA R 2l A A WA TFAE A FAF THA TS &
fohar &7 Uge A QET O T I A1?

A and B can complete a task in 12 days. However, A had to leave a few days before the
task was completed and hence it took 16 days in all to complete the task. If A alone could
complete the work in 21 days, how many days before the work getting over did A leave?

Ans of 1 7
x29
X35
xX43

Question ID : 9864492889
Status : Not Answered
Chosen Option : --

Q84 Tt g T ATT-RAT F WeET &2 -
In sexual reproduction a parent contributes:

Ans vy 3 S 1 U =t fEar
One-fourth of their genes

T S
X2
All the genes
. 9 S T di St fTEar
Three-fourth of their genes
. 39 ST osmer fFear
Half of their genes

x

v

Question ID : 9864493518
Status : Answered
Chosen Option : 2

Q.65 == RF T Fua & Fed A §U AT AT HL [ FAA & HUR W B &N
ey Affag w9 @ @erar =1 gar 2

FU:
weft &t e #1 |l e 92l d

for=d:
1. $o 7=l A=
2. 3o = Tai §
Consider the given statements true and decide which of the given conclusions can

definitely be drawn from the given statements.

Statements:

Some eagles are kites. All kites are birds.

Conclusions:

1. Some birds are eagles.
2. Some eagles are birds.

Ans «1ﬁ¢ﬁﬁ5&23§mmm%|

Only conclusion 2 follows.
| T 1 e 2 A e =

x
Both 1 and 2 follow.
K 3.
 a ey 1 3R & ey 2 sEer = E

Neither 1 nor 2 follows.
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Chosen Option : 3
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Only conclusion 1 follows.

X4
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Q.66 szar gam AT @ Ao et # § e aser B ar?
Which of the following branches of mathematics was invented by Newton?

Ans IMOUTAT

' Calculus

T
Logic

o
Geometry
A=eroT

. Algebra

K2

X3

K4

Question ID : 9864493599
Status : Answered
Chosen Option : 2

Q.67 AR guuT & ufAfsTad Wag & &g H AT FEr AT

The centre of the reflecting surface of a spherical mirror is called the:

Ans X1W

centre of curvature

Question ID : 9864493283
Status : Answered
Chosen Option :1

Q.68 Ryraforid & O i 9T e 93T el & T e gem?
‘Which one of the following statements would be INCORRECT to use?

Ans Uk T3k T Tah 9THToT
v &) 2

An atom of a compound
WHHHWWTU;
2

>~
An atom of an element
X 3 U TR & U Al
A mole of a compound
X 4 Tk ocd &1 Tk Alel

A mole of an element

Question ID : 9864493147
Status : Answered
Chosen Option : 3

Q.69 aEg FoT H A& w9 F I, RER, |9 A#R w=eT @ g
The architecture mainly consists Chaityas, Viharas, Stupas and Stambhas.

?{2.1%1

Hindu
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V5 CIry
Buddhist

X4 A
Maurya
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Q.70 =g &% & TEeR & T H A FEwe WA gt & 918, §gad T4
sAfET (USA) % e & Rrafeaem & wgos o9e = Reg F ot & =
# FHENR w §
After his stint as the Reserve Bank Governor, which University in USA did Raghuram
Rajan join as professor of Finance?

Ane - Frarear =y T, =A@+

Columbia Business School, New York
x STehol gTH, ShieThlerar
Berkeley Haas, California
I Fhel, FATET
Booth School, Chicago
1 gras e o, dieed

Harvard Business School, Boston

Question ID : 9864492264
Status : Answered
Chosen Option : 4

Q71 YRy goy aTdiad SHEIEN 2018 &) & HWH dH g2
‘Who is the captain of the Indian men’s volleyball team as of February 20187

e Tl Rig
Navjit Singh
x o Oil.3R.q0d

GE Vaishnav

VS.W%

Gurinder Singh

X4 @ g
K Udayakumar

Question ID : 9864492390
Status : Answered
Chosen Option : 3

Q72 3T F A P,
60+-5x(16—-8+2)+3=?
Solve the following:

60+-5%x(16—-8+2)+3=?
Ans x1_3

1
K2 -
3

s 48
X4l

Question ID : 9864492739
Status : Not Answered
Chosen Option : --

Q.73
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8T, HERTSE AT e

Select the most suitable Venn diagram to represent the following relationship.

India, Maharashtra and Kerala

Ans x1.

v &)

<( ()9

< 4
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Q.74 40 ge=r g = F BT, a’@mga;‘rﬁmﬁgrmﬁ:mmaﬂw

To get number 40,the number 63 should be multiplied with
A

ns x 1 3 E
?

3

X 26>

?

vi72

-

3

KaT=

6

Question ID : 9864492622
Status : Not Answered
Chosen Option : --

Q.75 8 @t w3t FI at oAl & €I @ Hior 1 A (B 7) Fargem
What 15 the angle between the two hands of a clock when the time shown by the clock is 8
p.m.?(in degrees)

Ans x 1. 60

W 2 120
5 3.50
K 4240
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